Good afternoon: Warm up
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(notes)
Position-Velocity-Acceleration
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"Higher Order Derivatives” 2nd derivative, 3rd derivative, etc.

Notation:
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How do we talk about "where" something is (position)?

What unit? e
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What units do W}nalk about speed In?
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The Motion Hierarchy
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Some helpful comments:

- velocity vs speed:
velocity shows direction via sign (+ means up/right, - means down/left)

- faster vs slower (increasing vs decreasing speed):

when velocity and accel (aka, slope of velocity) are the same sign,
speeding up. different signs? slowing down
- "at rest”
velocity = 0

- "changes direction”

sign change in velocity
- "displacement” - "distance traveled”

difference in ending position notice the units of the area!
minus starting position



Reading a Velocity Graph
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What is Frumble's velocity at =27
2 Lx[min

~* When is Frumble on cruise control? { = © *®
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Is Frumble speeding
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When(_i)s(_FrLé/mblf farthest from his starting position?

How far iIs Frumble from when he started?
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p or slowing down at t=3.57?

changed direction then, went back aft



To summarize:
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